Solutions



2

-

5(4/3|8|9|7

4

6

.

2/5|/417/8|3

2151
9|7
S
6|8 3145

(00
Q\
—
N~
o

8/5|3|7|6]|4]1|9

5
834
3|5

417/8]9/3|5

9|2
116|9
2







8[1]9
1/5(9[2]4[3

sl7
113]2
6/1/5|7]9(8

837|921
5/9 |4

118l317121416(5

[513]7]2]6

O < | v [Q\
(0@ O NN T
<t | LOIN]JO M O







418|713 |5|1

< | o]~

o |© |
ikt
©

o

N

3 3
61|55
9/4|2|6/}1713

6(2]17/3/8]4|9|5

11312169

(@)) LO| v (0 0)
QN NI <TI0 WO
LO O AlOIM N




/

2

3|2

1K
415

213

513
S

/

/13

68|91

8 4|1|5

olNep)

4
6

2

-

416159

38



	0-BlankSolutionsPage
	130429-Sudoku-DoubleVision-soln
	130430-TileSudoku-Diagonals-soln
	130501-ConsSudoku-Walls-soln
	130502-TileSudoku-StartSmall-soln
	130503-ArrowSudoku-DCtS-soln
	130504-TileSudoku-GreekCrosses-soln

